LI

421F

www.konkur.in

&
&

>

AR

RO 8o Koo o e o] o e

R R o &

1a4/a/Y

’ \, e, oo 0o | Sl los 295 Yol SIS (S
M (5 oo ol

alal odlel (5 )tem
Sald g oliaad pgle Ol

35 el henis cilejls

1WAl — 310 diwgas U aud yl ol s 15 sldo 595 69939 cyge 3]

GhE e PR Ls._!_Ly_)a oy a0

ALES YD 1 o eF Al Gue

1ot Jlguw Slani

e —
P PO S PP KPS EAPY S PPN P
Sl G| 8leid 31 | Jl3u olaai | iloeiel alge YN

Y ) Y- ((outlS3l) i g coges L) | )
ta Al 8 Sl Sl g s g Jdig Jos Jeol | Y
#e Tr 18 Ereb Jasl ¥
Ya £y 18 Ly pde g olaisl Sl ¥
q- hid 1) bt degs g Bodl &
{173 ) 8 sel g ol | #
. 17 8 e b 38 Olee g oliye Sliles | Y

518 e B ped yaa)l oyl

etasd jlove ol flly G aaldi!

gt iy g e o2 gt ol L g il o Flome oo o ol S0 g B g il | soleid ke 1 1ya0 3T (8 158 0 3 ot o b 50N sy 0 S S g S il

&

&

X

R

&

R

R

% IRAIRI I A P PG VA P

S R o R

forum.konkur.in



www.konkur.in

¥ i 21F (MFF 05) obys Cu ko

]| ;_jj-“)T &M.J.a- 3 Loods 148 sl aJJ.ﬁndJ .J.ld Js..l_‘.r i_ll.‘:-)m 39 Lal 3 lhasxin T pas s'.;h])-f u_a.lbslé -]

1y 895 Juduo 8 kouds ydge sl bolS BT L e PURL T 2 S PR — sl
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 i 580 (59, p 0t

gt Sl) ki’ g cogos b

PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your auswer sheet.

1- It had not rained on the prairie for several months. Because of the drought, the climate

had become very -—-----——-- .
1) unsteady 2y rigid 3) intense 4y arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3-  Can you please ---------- this last part of the lesson for me; I’'m not sure [ understood,
1) recapitulate 2) identily 3) postulale 4) recount

4-  Gerry’s dissatisfaction with our work was --—-——-- in his expression, although he never
criticized us dircetly.
1) vulncrable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas —-——-—--—- arc finite; one day they will run out, so think now
ahout what vou can do to consume less.
1) appliances 2) deposits 3) relics 4) amenilics

6- You arc recommended to use mnemonics to help vou - important items of
information.
1) ecnumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is —---—--—- , lasting from a fcw hours to a couple of days.
) imprecise 2) ephemeral 3) superficial 4) swift

8-  His words to the press were deliberately -----—-——-——-; he didn’t deny the reports but
ncither did he confirm them.
1) mutual 2) cssential 3) dogmatic 4) equivocal

9-  Hundreds of people had come to sec a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to ———----— the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

10- Computers have helped solve some of the mathematical ------—---- which have puzzled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There is a third component in the transport system, which is just as important as the

merchant fleet. Ports are the crucial interface between land and sea. It 1s here that

much ol the real activity takes place. In the days ol cargo liners and tramps. (he

aclivity was obvious. Ports were crowded with ships and bustling with dockers loading
and unloading cargo. Artsts loved o paint these busy scencs and the waterlronts were
famous for the entertainment they provided to sailors during their long portealls.
Anyonge could sce whatl was going on, Modern ports arc morg subtle.

Today, ships make [lecting calls at highly automated and apparently deserted
tcrminals, somctimes stopping only a few hours to load or discharge cargo. The
activity is less obvious but much more intense. Cargo handling speeds today are many
times higher than they were twenty or thirty vears ago.

Before discussing ports. we must define three terms “port’, ‘port authority™ and
‘terminal’. A Port is a geographical area where ships are brought alongside land to
load and discharge cargo—usually a sheltered deep water area such as a bay or river
mouth. The Port Authority 1s the organization responsible for providing the various
maritime services required to bring ships alongside land. Ports may be public bodies,
governmenl organizations or privdale companics. Once Port Authority may conirol
several ports. Finally, ferminal 1s a scetion ol the port consisting ol onc or morce berths
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devoled o a particular type of cargo handling. Thus, we have coal terminals, containger
terminals, cic. Terminals may be owned and operated by the port authorily, or by a
shipping company, which operates the terminal for its exclusive use.

Ports have several important functions. which are crucial to the efficiency of the
ships which trade between them. Their main purpose is to provide a secure location
where ships can berth. However, this is just the beginning. Improved cargo handling
requires investment in shore-based facilities. If bigger ships are to be used, ports must
be built with deep water in the approach channels and at the berths. Of equal
importance is cargo handling, one of the kev elements in svstem design. A versatile
port must be able to handle different cargoes—bulk, containers, wheeled vehicles,
general cargo and passengers, all require dillerent Lacilitics. There is also the matter of
providing storage lacilitics for inbound and outbound cargocs. Finally, land transport
systems must be cfficiently inicgraled into the port operations, Railways, roads and
inland walerways converge on ports and these transport links must be managed

efficiently.
16- According to the passage, port administrations are accountable for ----—------- z
1) Provision of different maritime services 2) Owning and operating terminals
3) Control of ports 4) All of the above
17- Leading and discharging of cargo in ports got -——---—--—-- over the past two or three
decades.
1) faster 2) slower 3) steady 4) sluggish

18- What is the preliminary responsibility of a port?
1) Handling different cargoes
2) Provision of improved cargo handling
3) Provision ol a salc location f[or berthing
4) Provision ol deep walcer in the approach channcls
19-  What doces the term “deserted’, according to paragraph 2, mean?

1) abandoncd 2) populated 3) inhabitcd 4) busy

2{}-  As a matter of comparison, which components of the transport systcm are more important?
1) Ports 2) Liners 3) Ports and ships  4) Liners and tramps
PASSAGE 2:

When shippers are conlident about how much cargo they will need Lo transport in
future, or il they fLecl that transport 1s of oo greatl stralegic importance to be lell to
chance, they may decide Lo take the shipping risk themselves. Shipping operations may
be carricd oul with an owned llect or by pre-construction time charlers with
independent shipowners, if this is found to be a more cost-effective solution. With the
assurance of cargo. the owners purchase ships and try to make a living by keeping
costs below the contract margins.

‘I'his type of operation is often known as “industrial shipping’. Raw materials such
as iron ore, coal, bauxite. non-ferrous metal ores and coal for steel mills and power
stations are shipped in this way. A common arrangement used by the Japanese in
developing their heavy industry was the ‘tie-in’ ships or shikumisen. Japanese shipping
companics arranged [or ships o be buill Tor forcign owners in Japancse yards. The
companics then chartered the ships on a long-term basis. Industrial shipping is a
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policy, notl a requircment. The oil industry provides a good example of how policics
can change with circumstances. In the 1950s and 19605 it was the policy of the major
oil companies to own enough tankers to cover between one-third and two-thirds of
their requirements and to charter tankers long-term to cover most of the balance. This
left only 5 to 10 per cent of their needs to be covered from the vovage charter market.

After the oil crisis in 1973, the oil trade became more volatile and much of the oil
transport passed to oil traders who had little incentive to plan for the future. As a result
of these changes, oil shippers started to rely more heavily on the vovage market. The
amount of oil cargo shipped in vessels hired on the freight market increased from 10—
15 per cent in the carly 1970s to 30 per cent by the late 1980s and the proportion ol
indcpendent tanker owncers (rading as subcontractors (i.c. on ime charter) [cll [rom 80
per ¢ent to about 23 pereent.

Industrial shipping makes shipowners subconiractors rather than risk takers, This
was the view ol Xannctlos (1972} who commented that ‘T know ol few industrics that
are less risky than the oil tankship transportation business. Relatively predictable total
requirements, time-charter agreements. and, because of the latter, availability of capital
mitigate the risks involved in the industry.’ In this business, the challenge is to win the
contract and deliver the service at a cost which leaves the shipowner with a profit.
Although the shipowner is freed from market risk. that does not remove all risk.
Charterers strike a hard bargain and the owner 1s subject to inflation, exchange rates,
the mechanical performance of the ship and, of course, the ability of the shipper to pay
his hire.

What is/are the main risk(s) the shipowners arc faced with?

1) Ship’s mechanical performance 2) Inllation and cxchange rates

3) Shipper’s ability o pay 43 All ol the above

What is the main condition for shipping opcration to be done by pre-construction fime
charters?

1) With independent shipowners 2) Being more cost-¢lTective

3) Taking the shipping risk 4) An owned lleet

What does the Japanese shipping term “shikumisen” stand for?

I} Raw materials 2) [leavy industry

3) [ndustrial shipping 4) Charter-back ship construction

“they may decide to take the shipping risk themselves”, what does “they” in the sentence
refer to?

1) Shipowners 2) Shippers 3) Cargoes 4) Fleet

Which of the following is NOT among the main reasons for shifting from time charter to
vovage charter in tanker market?

1) (il transported by traders with low motivation for future planning

2) Volatility of oil trade

3) Onl crisis in 1973

4} [ndustrial shipping operation

PASSAGE 3:

An important cause of short-term volatility is the seasonality of some trades. Many
agricultural commeodities are subject to seasonal variations caused by harvests, notably
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grain, sugar and citrus [ruits. Grain exports from the US Gull reach a trough in the
summcr then build up in September as the crop is harvested, Trade may incrcase by as
much as 50 per cent between September and the end of the year. In the oil business.
there is also a cycle that reflects the seasonal fluctuation in energy consumption in the
northern hemisphere, with the result that more oil is shipped during the antumn and
early winter than during the spring and summer. Seasonality has a disproportionate
effect on the spot market. Iransport of seasonal agricultural commodities is difficult to
plan, so shippers of these commodities rely heavily on the spot charter market to meet
their tonnage requirements. As a result, fluctvations in the grain market have more
influence on the charter market than some much larger trades such as iron ore where
tonnage requircments are largely met through long-term contracts. Some agricultural
produce, such asg fruit, meat and dairy produce require relrigeration, For this trade,
special “reeler’ ships and reeler containers are required.

l.ong-lerm trends in commodity trade are best identificd by studying the economic
characteristics of the industries, which produce and consume the traded commodities.
Although every business is different. there are four types of change to look out for:
changes in the demand for that particular commodity (or the product into which it is
manufactured); changes in the source from which supplies of the commodity are
obtained; changes due to a relocation of processing plant which changes the trade
pattern; and finally changes in the shipper’s transport policy.

A classic example of changes in demand 1s the crude oil trade, which is the largest
individual commodity traded by sca. During the 1960s, crude oil demand grew two or
three times as [ast as the general rate of cconomic growih because oil was cheap and
the cconomices of Western Furope and Japan switched [rom coal 1o oil as their primary
cnergy source, Imported oil replaced domestic coal, and the trade ¢lasticity was very
high. [lowever. with the increase in oil prices during the 1970s. this trend was reversed
and the demand for crude oil first stagnated and then declined. Coal regained some of
its original market share and the oil trade elasticity fell.

What is the leading trade in maritime transport?

1) Agricultural products 2) Grain exports

3) Coal exports 4y Crude oil
Seasonality has ------------—- impact on spot market.

1) uneven 2) equitable

3) commensurate 4) commensurable

In oil transportation, in which periods, the shipment of oil is more?
1) summer and autumn 2) autumn and winter
3) spring and summer 4y winter and spring
What is the main reason for temporary instability in some trades?
1) Continuity 2) Abnormality

3) Seasonal nature 4y Perpetual nature
What was the main reason for reversed trend of oil and coal?

1) O1l price rise 2) Coal price risc

3) Ol trade clasticity 4) Crudc oil demand stagnation
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